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Baum 6 - Stat. 4,725
Bau km 2+435
U=2,54m

D=80cm

Abstand zur Str. 1,10m
Y Abstand Str-Baummitte 1,40
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Baum 5 - Stat. 4,690
Bau km 2+470
U=2,10m
D=66cm
Abstand zur Str. 1,20m
Abstand Str-Baummitte 1,60

Baum 3 - Stat.4,666
Bau km 2+494
U=1,94m

D=61cm

Abstand zur Str. 1,20m

Baum 4 - Stat. 4,679

Bau km 2+481

U=2,10m

D= 66cm

Abstand zur Str. 1,20m
Abstand Str-Baummitte 1,60

v

Abstand Str-Baummitte 1,70

Baum 2 - Stat. 4,644
Bau km 2+516
U=2,36m

D=75cm
Abstand zur Str. 1,10m
Abstand Str-Baummitte 1,70

Baum 1 - Stat. 4,631

Bau km 2+529

U=1,90m

D=60cm

Abstand zur Str. 1,00m
Abstand Str-Baummitte 1,30
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35/6 Anlage 2
L 42 OD Suiplingen - Antrag auf Baumfallung
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